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Sl. No.1
QBID:1554941

From among the four options given, choose the correct sequence of the four
phrases given below. to make a meamngful sentence :

A. Lower our guard and our masks

B. repeatedly whether the pandemic might finally
C. be over. many of us are willing to

D. having asked ourselves

1) A.C.B.D
2y D.B.C. A
3) C.D.A.B
() B.A.D.C

f&=<! uimTen % Ja W © -
(1) 3 31,35 3
(2) 33 T 3

(3) 33 0 3
(4) 453 F

1[Option ID=8301]
2[Option ID=8302]
3[Option ID=8303]
4[Option ID=8304]

Sl. No.2
QBID:1554942

Which of the following is one-word substitute for "the quality of having a ready
msight into things'?

(1) Felicity

(2) Tenacity

(3) Perspicacity

(4) Chromaticity

SERY & HOEH' B H5d & -
(1) A=

(2) =i

(3) Udd




(4) =

1[Option ID=8345]
2[Option ID=8346]
3[Option ID=8347]
4[Option ID=8348]

Sl. No.3
QBID:1554943

Identify the correct indirect narration for the following sentence :

The lady said to the servant. "If you don't wash the clothes properly. I will
dismiss you".

The lady warned the servant that she would dismiss her if she didn't wash the
) clothes properly
(2) The lady told the servant that she would dismiss her on the event of bad work

(1

(3) The lady cautioned the servant that she must wash the clothes properly
(4) The lady advised the servant to wash the clothes properly

fafafaa aeuiEl @1 Sfa sargaR oafyd S

A, T89S A0 FH E44
B. ®1 Jae! fBa
C.uuTEs &

D. & 93 H 95 &34 & oy
E. 9903 &1

i feu v fowedf § € 981 SR &1 9949 SV
1) AB. C.D.E

) E.D.C.A B

3) C.D.E.A. B

@) D.E.A.B.C

1[Option ID=8373]

2[Option ID=8374]

3[Option ID=8375]
4[Option ID=8376]

Sl. No.4
QBID:1554944

Pick the plural form of 'matrix’.
(1) Matrixs

(2) Matrices

(3) Matries

(4) Matri




2 1 ¥ i M § ; U fiFuT (Assertion A) F wU # ffEd ¢ O g0 99F FRO
(Reason R) & TU H :

HYFYTA: TS U0 we I'H U5 el TS & |

&R R : fod Weg & 0 § $15 @R gl &, 94 [GHR] Weg $6d & |

SR BU & ARS |, A" [GU T AFeal  § 969 I9gad IR &1 994 S ;

(1) A SRR IH W1 SRR, A $1 951 Orem &

(2) A RREH 6T dfFT R, A & ot ayrem =T &
(3) AT 2afe R g 481 2

(4) A 9E 781§ dfed R 981 ¢

1[Option ID=8377]
2[Option ID=8378]
3[Option ID=8379]
4[Option ID=8380]

Sl. No.5
QBID:1554945

Which of the following options will be the correct choice for the blank?

I'm not sure where he 1s. He out for a walk.
(1) gone

(2) may have gone

(3) has gone

(4) is going

5 ¥ 9 Weg THE! @1 999 S |

A. fafy, Fy, sy, Gl
B. #fe1, S, fasar, waen
C. S, dCEl, §R, SuHE
D. 3=, SO, g598T, sfiH
E. ez, g, s, wrg

i fou U fasedl & © 981 3T &1 994 S
1) A.C.E.D

(2) B.A.D.E

3) E.B.C.A

4) C.B.A.E

1[Option ID=8381]

2[Option ID=8382]

3[Option ID=8383]
4[Option ID=8384]

SI. No.6
QBID:1554946




Match List I wath List IT :

List I List IT
(Animals) (Sound)
A apes I. howl
B wolves II. gibber
C lambs I .squel
D pigs I'V.bleat

Choose the correct answer from the options given below :
(1) A-IL B-I. C-IV. D-IIT

(2) A-III. B-IV, C-II, D-I

(3) A-IV, B-II. C-III. D-I

(4) A-IIL, B-III, C-IV, D-I

T 1 & a1y 3l 11 1 e S

List I List IT
(@) (EPrd® eq)
A. e ® fwedn s L SHEECID]
B. el S 9 B 1. fRramdor
HTH & &I Sgal g5
- I11. PRk
SHY & g Bl HUAT
D. S IV. 3®®

i fou v fawedf § © 981 SR &1 9949 SV ;
(1) A-I, B-II, C-III. D-IV

(2) A-IL, B-III. C-IV, D-I

(3) A-IV, B-III. C-I, D-II

(4) A-IIIL B-IV, C-1, D-II

1[Option ID=8385]

2[Option ID=8386]

3[Option ID=8387]
4[Option ID=8388]

Sl. No.7
QBID:1554947

From among the four options given. choose the one which is a grammatically
correct sentence.
(1) Frequent entertam or quality time m home calling out for comfort seating.

(2) Frequent entertaining or quality time at home calls out for comfortable seating.

(3) Comfort seat calling out for frequent entertaining or quality tune at home.

(4) Frequent entertaining calls out for comfortable seating or quality time at home.




5 & § os 9199 &1 994 S |

(1) T 3 S B A" B

(2) AN REF Ty 0§ |

(3) H 9% a¥H FH JAE |

(4) afe 39 =918 o # Og BOF 9S] § Foar ol |

1[Option ID=8389]
2[Option ID=8390]
3[Option ID=8391]
4[Option ID=8392]

Sl. No.8
QBID:1554948

From among the four options given, choose the one in which the word has been
spelt correctly.

(1) Vituperative

(2) Vetuperative

(3) Vituparative

(4) Vituperetive

:ﬁﬁﬁmﬁﬂw %’ : Udp 3y (Assertion A) %Wﬁﬁ@ﬂ%ﬁw
RECACANY| (Reason R) CIRSUREE

AYBYT A TS DI IS W&m@ﬂlq TeTa’l &1 3 THH © |

PRUIR : S| YETaR| PI a1 % |
SWRIF DY & 3eie T, 11 fEU T fdwpedi ¥ ¥ 9a9 Iuged IR &l 944

DIfoly :

(1) A SRR T8I § R R A T U5 AT ©

(2) A3MRRIF TEI g TR AT S e Tl €
3) ATSI e APARTEI TR ®

(4) AGSI I g AMPIR TR &

1[Option ID=8393]
2[Option ID=8394]
3[Option ID=8395]
4[Option ID=8396]

SI. No.9
QBID:1554949

Choose the correct option to make a meanmgful sentence.

Snecha is in the art of cooking.
(1) Adept
(2) Adopt
(3) Adapt




(4) Adnut
FfiEa § o9 wea & A Tee E 2

A, Wt
B. vitig
C. 89

D. Ty
E. drEw

e feu U [Aeedl & § 981 TR &1 904 SIvY ;
(1) Hag A 3N B
(2) HE@B AR D
(3) Fa@ B &R C
(4) Ha@ C AR D

1[Option ID=8397]
2[Option ID=8398]
3[Option ID=8399]
4[Option ID=8400]

Sl. No.10
QBID:15549410

Choose the correct preposition to complete the following sentence :

Ramanujan is good mathematics.
(1) at

(2) m

(3) for

(4) mto

Fafafad & § fawdarls gm ae &9 oF 96 76l § 2

A, g
B. T+
C. HT-5H
D. &F=um-ga1
E. Tl-3qat
i U 7y faeedl & 9 99 Iugad ITR &1 99 B
(1) FTTA. B 3R C
(2) FAAB. C XD
(3) FAWB. C 3R E

(4) FTEC. D IR E

1[Option ID=8305]
2[Option ID=8306]




3[Option ID=8307]
4[Option ID=8308]

Sl. No.11
QBID:15549411

Reversing Roe is a documentary film centered on :
(1) Civil Rights Movement

(2) Debate on Abortion Rights

(3) Women's Right to Study Medicine

(4) Voting Rights for the Blacks

Rafei 3 ue gafea 3. o Fa T R af2a § -
(1) AFIRS HUHR A=BEA

(2) T YPR TR §8Y

(3) Gal-fafed g & o AR1 YR

(4) Hgdl & o ganfesrR

1[Option ID=8309]
2[Option ID=8310]
3[Option ID=8311]
4[Option ID=8312]

Sl. No.12
QBID:15549412

Match List I with List 1T :

List I List IT
(Noble Prize Winners) (Area/Subject)
A. Md. Yunus I. Chemistry
B. Abdus Salam II. Peace
Venkatraman :
s e III Economics
D. Maria Ressa IV Physics

Choose the correct answer from the options given below :
(1) A-L B-II. C-III. D-IV
(2) A-III. B-1V, C-1. D-II
(3) A-II, B-III, C-IV, D-I
(4) A-IV, B-I, C-II, D-III




= 1 % Ty Tl 11 1 e S

List I List IT
GIEGR G arACED]) @3/faa
A, HigWE g9 1. TEEEE
B. 3fegd T@mH I1. =iifa
C. dheH THIGW 11 3rfmrme
D. AIfEn IV Hifoat

i U 71U fasedi # ¥ Wl 37 &1 90 Sl :
(1) A-L B-II, C-III, D-IV

(2) A-III. B-IV. C-I, D-II

(3) A-IL B-III. C-IV, D-I

(4) A-IV, B-1. C-II., D-III

1[Option ID=8313]

2[Option ID=8314]

3[Option ID=8315]
4[Option ID=8316]

Sl. No.13
QBID:15549413

Match List I with List IT :

List T (FM Radio) ;;;:ife)
A Radio Mirchi I. Dhoon badal ke toh Dekho
B My FM I1. International Indians
C.Big FM II1.Ji0 Dil Se
D Radio One IV.....Sunnewale always Khush

Choose the correct answer from the options given below :
(1) A-I, B-IL, C-III. D-IV
(2) A-III, B-IV, C-II, D-I
(3) A-IV, B-III, C-1. D-II
(4) A-IIL B-I, C-IV, D-II




List I
(TP.TH. TIM)
A s fdt
B.AIg TH.UH.
C & uhH.
DitEgi o=

(1) A-I B-II, C-III. D-IV
(2) A-III, B-IV, C-II, D-I
(3) A-IV. B-III, C-I, D-II
(4) A-IL B-I, C-IV, D-III
1[Option ID=8317]
2[Option ID=8318]

3[Option ID=8319]
4[Option ID=8320]

= 1 % Ty Tl 11 1 e S

List IT
(&S ) (gE aTE)
I. 7 <cd & o <&l
II. 5=HEET 5ea9
11 ot fer &

1 feu v faeeal & © T8l IO &1 904 S -

Sl. No.14
QBID:15549414

Match List I with List IT :

List I
(Author)

A.Salman Rushdie
B.Arundhati Roy
C.Kiran Desai
D.Aravind Adiga

(1) A-IL B-II, C-IV, D-III
(2) A-III., B-1, C-II, D-IV
(3) A-IIL B-IV, C-III, D-I
(4) A-IV, B-III, C-I. D-II

List II
(Title of the book)

I. The Inheritance of Loss
I1. The White Tiger

ITI1.The God of Small Things
IV.Midnight's Children

Choose the correct answer from the options given below :




= 1 % Ty Tl 11 1 e S

List I List IT
(T E®) (TEA® BT H)
A TaEE W I. 3oy e a9y
B3l 3 I1. € ®M5E TR
C fo= To 111 E 7ifs 3% wa i
D.2Rfg=g anfem IV .Fesagey e

i U 71U fasedi # ¥ Wl 37 &1 90 Sl :
(1) A-L B-II, C-IV, D-III

(2) A-III, B-I. C-II. D-IV

(3) A-IL B-IV, C-III. D-I

(4) A-IV, B-III., C-I, D-II

1[Option ID=8321]

2[Option ID=8322]

3[Option ID=8323]
4[Option ID=8324]

Sl. No.15
QBID:15549415

Which company manufactured the Ambassador car?
(1) Tata Motors Ltd.

(2) Mahindra and Mahmdra

(3) Ashok Leyland Ltd.

(4) Hmdustan Motors Ltd.

HAY ] TEUST FR &1 FHar o 2
(1) zrer Aled fafies

(2) =g uws Alg=

(3) emis ders foHes

(4) fegwm= Ared fofies

1[Option ID=8325]

2[Option ID=8326]

3[Option ID=8327]
4[Option ID=8328]

Sl. No.16
QBID:15549416

Pomting towards a boy. a girl said. "He is the son of the daughter of the father of
my uncle." How is the boy related to the gil?

(1) Brother

(2) Uncle

(3) Son-m-law

(4) Nephew




UF U5 Bl AN Shd S U UF USH A Fel- M A S T S T FTEH R |
TS &1 TSH! G o0 TEYE ?

(1) g

(2) M=

(3) T™E

(4) i

1[Option ID=8329]

2[Option ID=8330]

3[Option ID=8331]
4[Option ID=8332]

Sl. No.17
QBID:15549417

If A+ B means A 1s the mother of B: A — B means A 1s the brother of B: A %
means A 1s the father of B and A »* B means A 1s the sister of B, which of the
following shows that P 1s the maternal uncle of Q?

1) Q—-N+M=x=P
2) P+5=xN-Q
3) P-M+N=xQ
4) Q-5%P

G A+BHT P A BIIHI . A— BB EHF A BHFTUEE: A%B
FIHfeP A BIIUTEIRA-BIT I fF A BB ge8. dl
fFoffEd g e dea e sxias fFr Q@ amIg 2

1) Q—-N+M=P

2) P+5=xN-Q

3) P-M+N=xQ

4) Q-S%P

1[Option ID=8333]
2[Option ID=8334]
3[Option ID=8335]
4[Option ID=8336]

Sl. No.18
QBID:15549418

If Z =752 and ACT = 48, then RAT will be equal to -
(1) 72
(2) 78
(3) 92
(4) 64
afg Z = 52 3R ACT = 48 & & RAT fds s g 2
(1) 72
(2) 78
(3) 92
(4) 64




1[Option ID=8337]
2[Option ID=8338]
3[Option ID=8339]
4[Option ID=8340]

Sl. No.19
QBID:15549419

There are equation that have become wrong due to incorrect order of signs. From
the four alternatives. given below, find out the correct order of signs. So that
equation becomes right.

§+-9=90-8§1
(1) — %+
(2) +, -~
(3) = +.—
(4) x. +.=

i &g U geiteRor Tftrdy gl & 3d o0 & WAl & SRUTTTed 8l 1T
g |+ fu U 9R fowedl 3 € ol & 3fd o8 &f ggaifAu foeg gdier
Tl g1 o |

§-0=0-¢§1
(1) — =
(2) ~.—~
(3) = +.-
(4) <. T,
1[Option ID=8341]
2[Option ID=8342]

3[Option ID=8343]
4[Option ID=8344]

Sl. No.20
QBID:15549420

If + means *, / means —, * means / and — means +. what will be the value of 4 +
11/5—-55=12

(1) —48.5
(2) —11
(3) 79

(4) None of these
gig+morf*g /worf g monf/ o -_marf+ 2 A4 +11/5-55="7

(1) —48.5
(2) —11
(3) 79

(4) 99ged § § 15 el

1[Option ID=8349]
2[Option ID=8350]




3[Option ID=8351]
4[Option ID=8352]

Sl. No.21
QBID:15549421

If (25)73 x (522 + (125)19 = Sx then x = ?
(1) 13

(2) 8.5

(3) 16

4) 17.5

e (25) 2 = (52 = (125) S =Sx ad x =7
(1) 13

(2) 8.5

(3) 16

4) 17.5

1[Option ID=8353]

2[Option ID=8354]

3[Option ID=8355]
4[Option ID=8356]

Sl. No.22
QBID:15549422

Half of a large Pizza is cut into 4 equal-sized pieces, and the other half is cut into
6 equal-sized pieces. If a person were to eat 1 of the larger pieces and 2 of the
smaller pieces. what fraction of the pizza would remain uneaten?

5
1) —
12

17
(2) —
24
7
3) —
12

13
4) —

24
% 95 U & Y o8 &1 4 SeR go sl | S1e1 701 a9 g 5% &1 6 S gFsi H#
®121 T | afg U oafad @1 1 951 9T 2 B THe @ ©, e &1 fea ur w6
g ?

o
(1) —

12

17
(2) —
24
7
3) —
12

i3
(4) —
24




1[Option ID=8357]
2[Option ID=8358]
3[Option ID=8359]
4[Option ID=8360]

Sl. No.23
QBID:15549423

In a business. A and C mvested amounts m the ratio 2:1. whereas the ratio
between amounts invested by A and B was 3:2. If Rs. 1,57.300 was their profit.
how much amount did B recerve?

(1) Bs. 24200

(2) Rs. 72.600

(3) Rs. 36.300

(4) Rs. 48.400

MR & A T4 C 2:1 # 4ot Few #=d € 9eiE A au1 B g1 Fam 21 9+ 1ikmar 3:2
ard 7 4t | afe S @M F. 1,57,300 o1 | B =1 feba-t afdn o g4t ?
(1) +. 24200

(2) ¥F.72.600

(3) +.36.300

(4) ¥=.48.400

1[Option ID=8361]

2[Option ID=8362]

3[Option ID=8363]
4[Option ID=8364]

Sl. No.24
QBID:15549424

Company A produces toy trucks at a cost of Rs. 50.00 each for the first 100
trucks and Rs. 35.00 for each additional truck. If 500 toy trucks were produced
by Company A and sold for Rs. 100.00 each. what was Company A's gross
profit?

(1) Rs. 31.000

(2) Rs. 15.000

(3) Rs. 21.000

(4) Rs. 13.000

&1 A fadm o M 30 § 789 100 2% ¥ 50.00 7R oF &1 3190 | U1 &

35.00 U3 fafeg e &1 1 Ofe Fo A 5 500 &= o g fSuaw = 100.00
i 2 s, SO A BT Fa T 1 U ?

(1) ¥+.31.000
(2) +.15.000
(3) +.21.000
(4) +.13.000

1[Option ID=8365]
2[Option ID=8366]




3[Option ID=8367]
4[Option ID=8368]

Sl. No.25
QBID:15549425

A shopkeeper fixes the marked price of an item 35% above its cost price. The
percentage of discount allowed to gain 8% is

(1) 43%

(2) 27%

(3) 20%

(4) 31%

0% GFHGR U 9% &1 JHfd Je0 596 %4 90 9 35% R HiEa s & 1 8% WM &
o 3e & wioa § |

(1) 43%

(2) 27%

(3) 20%

(4) 31%

1[Option ID=8369]

2[Option ID=8370]

3[Option ID=8371]
4[Option ID=8372]

Sl. No.26
QBID:1245501

Choose the odd one out:
(1) Mohammed Rafi
(2) K.L. Saigal

(3) Naushad
(4) Adnan Sami

fawr oafdd o1 U -
(1) HEeHg IBl

(2) &. Ud. HgTd
(3) 99

(4) 3T FrHt

1[Option ID=9001]
2[Option ID=9002]
3[Option ID=9003]
4[Option ID=9004]

Sl. No.27
QBID:1245502

Which of the following options is the correct alphabetical order of the four words
given as:
Rumbustious. Rumanian. Rumour, Rumple

(1) Rumanian. Rumple. Rumour, Rumbustious




(2) Rumour, Rumbustious. Rumple, Rumanian
(3) Rumanian. Rumbustious. Rumour. Rumple

(4) Rumple. Rumour, Rumbustious, Rumanian
QeaH 19 H G0 71U Wsc] P quiHTer A H saaid HIforg -

Rumbustious. Rumanian. Rumour, Rumple

(1) Rumanian. Rumple. Rumour, Rumbustious
(2) Rumour. Rumbustious. Rumple. Rumanian
(3) Rumanian, Rumbustious. Rumour, Rumple

(4) Rumple. Rumour, Rumbustious, Rumanian

1[Option ID=9045]
2[Option ID=9046]
3[Option ID=9047]
4[Option ID=9048]

Sl. No.28
QBID:1245503

If “*ORANGE’ 1s coded as ‘MTYPEG’ 1n a certain language. then how will
‘CHILLY" be coded in that language?

(1) AJGNNW

(2) AIGNJA

(3) AJKNNW

(4) AJGOOW

3R 'Orange' @ 'MTYPEG' § U [H1%d w1 § pfed a1 SIa1 § ol 'CHILLY"
3 YT H TSR 2

(1) AIGNNW

(2) AJGNJA

(3) ATKNNW

(4) AIGOOW
1[Option ID=9089]
2[Option ID=9090]

3[Option ID=9091]
4[Option ID=9092]

Sl. No.29
QBID:1245504

Choose the odd one out from the following:
(1) Morarji Desai

(2) V.P. Singh

(3) Narendra Mod:

(4) Sardar Patel

fors TRy 1 G -

(1)




ORI ¢9Ts
(2) dl. 4. &8
(3) = Higl
(4) YER Ucd
1[Option ID=9133]
2[Option ID=9134]

3[Option ID=9135]
4[Option ID=9136]

Sl. No.30
QBID:1245505

Which will be the missing pattern in the series? Redraw figure

K

(1)

(2)

X
>
P
>

(4)

Rraffaa 30h 3 fRiqw el Sr-a g »

ol ?




(1)

(2)

(3)

(4)

¥ XX

1[Option ID=9177]
2[Option ID=9178]
3[Option ID=9179]
4[Option ID=9180]

Sl. No.31
QBID:1245506

‘If MANGO’ 15 coded as ‘KCLIM’ in a certain language then how will ‘SWEETY”
be coded in that language?

(1) QYCGRA
(2) QYCCRA
(3) QYGCRA
(4) YQUGRA

U Fgd 4191 § 'MANGO', KCLIM' H $EId 81d1 8 | 39 U1 & 'SWEETY'
& picd faar S 2

(1) QYCGRA

(2) QYCCRA

(3) QYGCRA

(4) YQCGRA

1[Option ID=9221]

2[Option ID=9222]

3[Option ID=9223]
4[Option ID=9224]

Sl. No.32




QBID:1245507
Which among the following words comes first in a dictionary?

Shrub, Shudder. Shroud, Shuttle
(1) Shrub

(2) Shuttle

(3) Shroud

(4) Shudder

= fSu 0 Trsg] H Tee @ 9 § TEd UgHl Yeg DT ST 2

Shrub. Shudder. Shroud. Shuttle

(1) Shrub

(2) Shuttle

(3) Shroud

(4) Shudder
1[Option ID=9265]
2[Option ID=9266]

3[Option ID=9267]
4[Option ID=9268]

Sl. No.33
QBID:1245508

Which of the following options 1s the correct alphabetical order of the four words
given below?
Sport. Squash. Sporadic. Sprout

(1) Sport. Sprout. Sporadic. Squash
(2) Sporadic. Sport. Sprout, Squash
(3) Sporadic, Sport, Squash. Sprout
(4) Squash. Sprout. Sport. Sporadic

a9 § U U Yecf B gUiHTa oHhH H caafd Pifol -

Sport. Squash. Sporadic. Sprout

(1) Sport. Sprout. Sporadic. Squash
(2) Sporadic. Sport. Sprout, Squash
(3) Sporadic. Sport. Squash. Sprout
(4) Squash. Sprout. Sport. Sporadic

1[Option ID=9293]
2[Option ID=9294]
3[Option ID=9295]
4[Option ID=9296]

Sl. No.34
QBID:1245509




What will be the Next Pattern in the series?

(2)

X0 1=
e
T

few o ot § 3ATEr T o g 2

s

(2)

i
e
T




(3)

(4)

1[Option ID=9297]
2[Option ID=9298]
3[Option ID=9299]
4[Option ID=9300]

Sl. No.35
QBID:12455010

Complete the series by filling the missing number
25814 57284 7

(1) 1420

(2) 1421

(3) 1704

(4) 1705

faeTed G ol iU MU 49Ul o 1RSI BTG |

2.5 14 57284 7
(1) 1420

(2) 1421

(3) 1704

(4) 1705

1[Option ID=9005]
2[Option ID=9006]

3[Option ID=9007]
4[Option ID=9008]

Sl. No.36
QBID:12455011

cosB —sin R - .
A= . then 4 + 4° = for B equals to
smB coshB
-
1) —
3
o
(2) =—
6
3) T

(4)




cosB —smpB

afe 4= Wa+4T=1 FFBHFTOA BT |

smfB coshB

-
(1) —
3
-
(2) —
6
(3) T
3T
(4) —

1[Option ID=9009]
2[Option ID=9010]
3[Option ID=9011]
4[Option ID=9012]

Sl. No.37
QBID:12455012

The number of 7-digit numbers whose sum of the digits equals to 10 and which 1s
formed by using the digits 1, 2 and 3 only 1s:

(1) 55

(2) 66

3) 77

(4) 88

7 3l Pt 98 G [T 36 STANT 10 P aRIe & | AR ol fob Sad 1.2 3R
3 3/ BT I P ST AT |

1) 5
(2) 66
(3) 77
(4) 88

L

1[Option ID=9013]
2[Option ID=9014]
3[Option ID=9015]
4[Option ID=9016]

Sl. No.38
QBID:12455013

If from each of the three boxes containing 3 white and 1 black. 2 white and 2
black. 1 white and 3 black balls. one ball 1s drawn at random. then the probability
that 2 white and 1 black balls will be drawn 1s:

13

(1) —
32




(2) ]

4
1

(3) —
32
3

(4) —

16

TR dH 9199 § HHIE 3 9hg 3R 1 HIALL 2 e 3R 2 BId. 1 gheg 3R 3
DA s | TP T &l Uefeyd w0 d A o g | 79 2 906 3R 1 &1
Tig & MHTa- BT griTeTdr o1 gl 2

13
(1) —
32

1
(2) —
4

I

3) —

32
3

(4) —

16

1[Option ID=9017]
2[Option ID=9018]
3[Option ID=9019]
4[Option ID=9020]

Sl. No.39
QBID:12455014

Let f(x) = || x | — 1|, then point(s) where f (x) 1s not differentiable is (are):
1) 0.=1

(2) =1

(3 0

(4) 1

AT £(x) = || x | - 1): A1 98 a5 OT6l, £ (x) S@@a-1d (differentiable) 81 8 (3) :

) 0,=1

(2) =1

(3) 0

4 1

1[Option ID=9021]
2[Option ID=9022]

3[Option ID=9023]
4[Option ID=9024]

Sl. No.40




QBID:12455015

Let f: [2. 0] — E be the function defined by f(x) = x> — 4x + 5. then the range of
(1) =

(2) [1.=)

3) [4. =)

(4) (—=. 0]

G £ [2. 0] — RBAT & Ol [ f(x) =x% —4x + 5 GURMING § | 1 FPT
U (range) EﬁTﬂ :

(1) =

(2) [1.%)

(3) [4.x=)

(4) (—=.0]

1[Option ID=9025]

2[Option ID=9026]

3[Option ID=9027]
4[Option ID=9028]

Sl. No.41
QBID:12455016

The function 7(x) = lln{l e B e e

X
may be assigned to fat x = 0, so that it is continuous?
(1) a+b
(2) a-b
(3 b-a

4 lna+lnb

e If'[,r)=lin{1 1 rr.\‘) ln{_l f},t‘}: r=ﬂwq-ﬁq-ﬂﬁﬂ:|ﬁ% | £ BTEF T

fféy & T 8. o/ @1 U8 x = 0 W Iad (@I<gsr) § 2

1) a+b
(2) a-b
3) b—a

4 lna+lnbk

1[Option ID=9029]
2[Option ID=9030]
3[Option ID=9031]
4[Option ID=9032]

Sl. No.42
QBID:12455017

The area enclosed between the graphs of v = x> and the lines x=0, y=1,y=38
183




(1 7
(2) 12
45
4
21
8
W;::ﬁaﬁ?:;:ﬂ.;-:1.;~=31@T&ﬁ$a‘}?{ﬁéﬂww%?
(1) 7
(2) 12
45
4
2
8

(3)

(4)

(3)

(4)

1[Option ID=9033]
2[Option ID=9034]
3[Option ID=9035]
4[Option ID=9036]

Sl. No.43
QBID:12455018

If the vertices of a triangle are O (0.0), 4 (a. 0) and B (0, a). Then. the distance
between its circumcentre and orthocenter 1s:
a

IR TP S0 & WESH 0 (0. 0). 4 (a. 0) IR B (0, ) © AT 59D TR 3R
Y= (a1l f65) & & fopd=i g3 gl 2

1[Option ID=9037]
2[Option ID=9038]
3[Option ID=9039]
4[Option ID=9040]




Sl. No.44
QBID:12455019

The straight linesx +y=0, 3x +yv—4 =0and x + 3y — 4 = 0 form a triangle
which is:

(1) Right angled

(2) Equilateral

(3) Isosceles
(4) Icosceles and right angled

x+y=03x+y—4=0,x+3y—4=0 G Y F1 TP HDH 0T &1 G 2

1[Option ID=9041]
2[Option ID=9042]
3[Option ID=9043]
4[Option ID=9044]

Sl. No.45
QBID:12455020

If one of the lines of ax® + 2hxy + by> = 0 bisects the angle between the axes in the
tirst quadrant. then

(1) W—ab=0
(2) P +ab=0
(3) (a+byY=h
(4) (a+b)=4h°

TYH IUI H 3R ax? + 24xy + by? = 0 BT U @1 Hefl b did DIl Dl
g Sl g 1

1) 2 —ab=0
(2 B2+ab=0
(3) (a+b)yY=h
(4) (a+b)* =4k
1[Option ID=9049]
2[Option ID=9050]

3[Option ID=9051]
4[Option ID=9052]

Sl. No.46
QBID:12455021




What 1s the value of:

[tan® (90 — 8) — sin? (90 — 8)] cosec? (90 — 6) cot (90 — 6)
(1) 0

2) 1

(3) -1

(4) 2

[tan® (90 — 8) — sin? (90 — 8)] cosec? (90 — 6) cot2 (90 — 8) PIHH T § ?
(1) 0

2) 1

(3) -1

(4) 2

1[Option ID=9053]

2[Option ID=9054]

3[Option ID=9055]
4[Option ID=9056]

Sl. No.47
QBID:12455022

If 4 + B=45°, then (1 +tan A) (1 + tan B) is equal to:
(1)
(2)
(3)
(4)
WA—B=45°%L_‘|1T[1 +tan4) (1l +tan B)=?
(1)
(2)
(3)
(4)

E=N

g 2

=N

= s 2

1[Option ID=9057]
2[Option ID=9058]
3[Option ID=9059]
4[Option ID=9060]

Sl. No.48
QBID:12455023

If 7, and E; and are two unit vectors such that a: +2 bl and - 3 b are
perpendicular to each other. then the angle between , and E T

(1) 45°
(2) 60°

(3) ms_][]}
3,

(4)




R IR ; AP AR IIRER 5, 45 IR 5,y BTRD
TEadedl ) 3R ; S DIV RIG ?

(1) 45°

(2) 60°

(3) ms_][]}
3

il

(4) cos -
f

1[Option ID=9061]
2[Option ID=9062]
3[Option ID=9063]
4[Option ID=9064]

Sl. No.49
QBID:12455024

Let g=;—jand 5_;, j+ & and ¢ be a vector such that (@ x ¢) + b=0and a.c =
4. then |c 21is equal to:

(1) 8

HIMT g i 3R pojy jy b 3R o U R (AER) SHUDR G fb (a < 0) + b
=D-3ﬂ?ﬂ - c=4?ﬁ'cjm$ww-

(1) 8§

1[Option ID=9065]
2[Option ID=9066]
3[Option ID=9067]
4[Option ID=9068]

SI. No.50
QBID:12455025




¥ =3 —p = : = =) (= =)
If ; p oand 4 are the unit vectors such that | axb || cxd | =1 and

=5 —31 ].
| a-c |=—.then
. /72

(1) Only are non-coplanar

2l
(!

are non-cop lanar

ry |

g s
and a.b.d & non-coplanar

N
Q
-
2L R
> o & o
; it

-y -
o and a.b.d & coplanai

alg 4 5. ¢ AR 3 38 PR H UDHP TG (unit vectors) B 1P

(axs|[cxd|=13R (a.¢|-1.@
(1) $ad , ;) FGHACEE |
(2) $ad 2 b d CRERRIUEE
3 & ;5 ;3R , p ;i SEHACIE T |
(@) ;5 0 3R,y SHAATE |

1[Option ID=9069]
2[Option ID=9070]
3[Option ID=9071]
4[Option ID=9072]

Sl. No.51
QBID:12455026

Let 4 = {1.2.3} and consider the relation R = {(1.1). (2.2). (3.3). (1.2). (1.3}} then
R 1s:
(1) Reflexive but not symmetric

(2) Retlexive but not transitive
(3) Symmetric and transitive

(4) Equivalence relation

T4 = {1, 2,3} B, SIRREFTR= {(1, 1). (2.2). 3.3).(1.2). (1. 3)} TR
forg U R @1 REwA |

(1) Rediagd oo Rmics @) T80

(2) Rwpaifega foo-d gifciied (D) =8l
) Rfesd afia) ok cifvfed Fioms)
(4) THgddy RazE




1[Option ID=9073]
2[Option ID=9074]
3[Option ID=9075]
4[Option ID=9076]

Sl. No.52
QBID:12455027

A spring is being moved up and down. An object is attached to the end of the
spring that undergoes a vertical displacement. The displacement is given by the
equation y = 3.50 sin t + 1.20 sin 2t. Find the first two values of t (in seconds) for
which y=0.

¥in
a [ =0,—
4
rin
@ [ =0,—
2
3) t=0,7
rin
@ =0,—
6

e ST SR Al 9adl § | U aq 39 [SRT & U BIR U= Tl Srdl § ol
JeAleR o §ian § | fo=uTas SHia)ur p = 3.50 sin ¢+ 1.2 sin 2¢ 9 fSa1 7
g |y=0% oW (S%vs §) & ggd 2 AH F1d BT |

¥in
a [ =0,—
4
rin
@ [ =0,—
2
3) t=0,7
rin
@ =0,—
6

1[Option ID=9077]
2[Option ID=9078]
3[Option ID=9079]
4[Option ID=9080]

Sl. No.53
QBID:12455028

A ball 1s thrown off the edge of a building at an angle of 607 and with an nitial
velocity of 5 meters per second. The equation that represents the horizontal
distance of the ball x i1s x = v (cos 0) t. where v 1s the initial velocity. 6 1s the

angle at which it is thrown and t is the time in seconds. About how far will the ball
travel in 10 seconds?

1) 253 m
@ 502m




3) 25m

25
(4) —=m

NE
0% YA & Uh SI4 A TP TG 60° HI0T 3R 5 B/, & 971 $ 91U e & &fds
ﬁ{x}ﬁﬂ'ﬁnﬂmx=rﬂ (cos e:@[ﬂﬁfﬁhﬁﬂ%ﬁlﬁmﬂﬁﬁi@aﬂ BW%
o6l 9 1G DI bl T § R GHY IHUS U § | 10 YHUS H 7ig [l gl ad
S 2
(1) 25,/3 i

@ 50434
3) o5l

25
(@) —= Hi

J3

1[Option ID=9081]
2[Option ID=9082]
3[Option ID=9083]
4[Option ID=9084]

Sl. No.54
QBID:12455029

Let n be a positive integer and
R={(a.b)eZxZ|a-b=nmforsomem=0E€ Z}

Then R is:

(1) Reflexive on Z

(2) Symmetric

(3) Transitive

(4) Equivalence relation on Z

1T 1 U YT Sclor (Gl G&N 8 SRR = {(a.b)€Z*Z | a—b=
nm‘_j_f'_i"; sn.-:‘ﬂeﬁ'%ﬁ*l@}ﬂ}f}%%-

(1) Z R Nwifdgd (Fda)
) R @ufm)

(3) cifulicd (HbHS)

(4) Z R URday RawH

1[Option ID=9085]
2[Option ID=9086]
3[Option ID=9087]
4[Option ID=9088]

Sl. No.55




QBID:12455030

The a. b, ¢ and d are in GP and are in ascending order such thata +d=112 and b
+ ¢ = 48. If the GP 1s continued with a as the first term. then the sum of the first six
terms is:

(1) 1156

(2) 1256

(3) 1356

(4) 1456

GP (ST T a, b, c. dB AR NG PHH ST UPR BHAC [P a+d=112 HR b
+ ¢ =48] TR GP (G4 o P YT B & 1Y fdad (Y3 sidN) & dl Usd 6 Y
DIART TS 2

(1) 1156

(2) 1256

(3) 1356

(4) 1456

1[Option ID=9093]

2[Option ID=9094]

3[Option ID=9095]
4[Option ID=9096]

Sl. No.56
QBID:12455031

Given below are two statements:
Statement I : If A C B - then B can be expressedas B=A (E M B) and

P(A)>P(B).

Statement II : If A and B are independent events, then (Aand B ). (A and B)
and ( A and B ) are also independent

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement [ 18 true but Statement II is false

(4) Statement [ 1s false but Statement II is true

Taipyfeumug .
BYT1: 3R A B 1B Bl V&R fbar ST gwais B=AU(ANB) 3R

P(A)>P(B)

HYTI: R AIRBE WA UeAd 6. A (AR B). (A 3RB) IR (A
IR g)yHtmda R |
ﬁ@%%éﬂ?ﬁﬁ?ﬁ:ﬂﬁﬁqulﬁﬁﬂﬂﬂ e IR D1 g

(1)




HYF 1 AR 11 S el &
(2) HYFI R I EHI TAd §
(3) HYT1TEI 8. Afpd HUT I TTd ©
(4) Y170 8, Afhd PUT I TG &

1[Option ID=9097]
2[Option ID=9098]
3[Option ID=9099]
4[Option ID=9100]

Sl. No.57
QBID:12455032

Given the following truth table:

A Blx
0 01
0 110
1 00
1 110

Which of the following Boolean functions does it represent?

(1) OR
(2) XOR
(3) NOR
(4) XNOR

Y IEIA IR S e |

A B
¥ 4
0

1
1 0
1 1}

3 grufl FafaRed 3 9 SH9 90 e &1 il g 2
(1) OR

(2) XOR

(3) NOR

(4) XNOR

C?'S-C?-—'-‘-":

1[Option ID=9101]
2[Option ID=9102]
3[Option ID=9103]
4[Option ID=9104]




Sl. No.58
QBID:12455033

2 2

+[5-

t-2

b

+|¢—a

]

= : - —+
It a,b and £ are unit vectors. then | g — b

does not exceed:
(1) 4
(2) 9
(3) §
(4) ©

e ;. p 3R ¢ o HWE. @
5 & ¥ g 1 3ifte gl g 2
(1) 4

(2) 9

(3) &
4) 6

2 oy (2 5
i—b| +|b—¢| +|c-a

1[Option ID=9105]
2[Option ID=9106]
3[Option ID=9107]
4[Option ID=9108]

SI. No.59
QBID:12455034

The product of two four bit positive binary numbers 1011 and 0011 1s
(1) 1000011

(2) 100001

(3) 100101

(4) 100111

IR fae & 4TS o I3 SBATSH 1011 3R 0011 HTIOH §

(1) 1000011
(2) 100001
(3) 100101
(4) 100111
1[Option ID=9109]
2[Option ID=9110]

3[Option ID=9111]
4[Option ID=9112]

Sl. No.60
QBID:12455035

f f-ivithka b=130d gx .E:::j‘—k then ' is equal to:
W) - j+k
(2)




@) 2;

afg n:::‘+j+£.r.frl-brzlfﬁ axb=j-k 09 EWW@W?
W) - j+k

() 2j-k

(3) ;

4 2;

1[Option ID=9113]
2[Option ID=9114]
3[Option ID=9115]
4[Option ID=9116]

Sl. No.61
QBID:12455036

Consider the diagram given below and the following two statements:

‘74@\:”“
Y/

Statement I : Events A and B can be expressed as:
A=(AnB)uy
B=(ANB)UZ

Statement IT : Events A and B can be expressed as:
A=X-Y
B=Y+2Z

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are true.

(2) Both Statement I and Statement II are false.

(3) Statement I 1s true but Statement II 1s false.

(4) Statement I 1s false but Statement II 1s true.




- T U o SR g Syl UR fdaR ST -

8 R
N M/
HYTL : 4 3R B U131 Bl veRfd R Iad © -

A=(ANB)uy

B=(ANB)UZ

BYTIL : 4 HR B T34 Bl TeRfg R THa & -
A=X_-F

B=Y+Z

SWRIdd Y & Hdie 4, 4 f3u U [deedl T 9 98! 3k &1 99 Sifeiu -
(1) HYFI AR I GH 9d &

(2) HYAI AR I A TH B

(3) YT IA T, Al YT I 3 ©
4) FYFTI 3T T. AP FUF 1 Ia R

1[Option ID=9117]
2[Option ID=9118]
3[Option ID=9119]
4[Option ID=9120]

Sl. No.62
QBID:12455037

The simplified form of Boolean expression "4B + AB"1s
(1) 4

(2) B

(3) 1+4

(4) 1+5'

gferd D "4B + 4B’ BT WA T TG ?

(1) A4

(2) B

3) 1+4

(4) 1+B'

1[Option ID=9121]
2[Option ID=9122]
3[Option ID=9123]
4[Option ID=9124]

Sl. No.63
QBID:12455038




Representation of —11 in sign-and magnitude 1s:
(1) 11011

(2) 010111

(3) 10011

(4) 01110

15 SR Aifiegs (s SR o) Al F -1 i veRfa #=d 8 -
(1) 11011

(2) 010111

(3) 10011

(4) 01110

1[Option ID=9125]

2[Option ID=9126]

3[Option ID=9127]
4[Option ID=9128]

Sl. No.64
QBID:12455039

1001 1s 2's complement representation of

(1) -7
(2) +9
(3) +6
(4) —6
1001 2's IOaEe fafy & Fafafed & 9 fege fFegu g -
(1 -7
(2) +9
(3) +6
(4) —6

1[Option ID=9129]
2[Option ID=9130]
3[Option ID=9131]
4[Option ID=9132]

Sl. No.65
QBID:12455040

Match List I with List IT :

LIST I LIST IT
A |(x+y) L |1
B. |x+1 m | x4+
c. (o) L [ x'ey
D. |x+40 V. |x

Choose the correct answer from the options given below :




(1) A-IL B-1. CIII. D-IV
(2) A-IL B-IV. C-1. D-III
(3) A-IIL B-1. C-IV. D-II
(4) A-IIL B-1. CII. D-IV

il 1 S H1Y Gl 11 DT e Sifor -

il il
A [(x+y) L |1
B. [x+1 | x4+
(xp) L [x'ey
D. [x+0 V. |x

- fau 77T fawenl 1 6t SR &1 994 DI -
(1) A-IL B-1. C-III. D-IV

(2) A-IL B-IV. C-I. D-III

(3) A-IIL B-1. C-IV. DI

(4) A-IIL B-1. C-II. D-IV

1[Option ID=9137]

2[Option ID=9138]

3[Option ID=9139]
4[Option ID=9140]

Sl. No.66
QBID:12455041

Given below are two statements : one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Carbon Monoxide when inhaled causes death.

Reason R : Carbon monoxide combines with haemoglobin.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are true and R 1s the correct explanation of A.
(2) Both A and R are true but R 1s not the correct explanation of A,

(3) A is true but R 1s not false.
(4) A is false but R 1s true.

14 Sl Py AT U § : U DY (Assertion A) P =9 H fRad 8 dl 811
WW(R'EE’LSDH R)PEUH

HTUGYT A : Bl HHISFIES 3 Y97 g B BRUIBIA © |

PRI R : Bl JHIHHSS fGATRIEH & T Sl g |

SWRIdd Y & fedle 4, H4 feu U fdeedl T 9 98! 3Tk &1 99 Sifolu -

(1)




A SRR GH A B 3R R, AP Ugl TRAT §
(2) A SRR EHF IA g, Al R A DI Jel R 161 ©
3) AFIE. APTR ITAE
(4) A3TTE. APTR IR

1[Option ID=9141]
2[Option ID=9142]
3[Option ID=9143]
4[Option ID=9144]

Sl. No.67
QBID:12455042

Given below are two statements: one 1s labelled as Assertion A and the other is
labelled as Reason R.

Assertion A : In a class of 40 students. 22 drink Sprite. 10 drink Sprite but not
Pepsi. Then the number of students who drink both Sprite and Pepsi 1s 15.
Reason R : For any two finite sets 4 and B. n(4)=n (4 —-B) +n (4N B)

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.

- 3l PY AU U § : U 3BT (Assertion A) P =9 H ARG & ol G311
WW{R‘EE’LEDH R)PEUH; ﬂ

fUSYT A+ 40 fagmdifadl &1 v Han o 22 faemdl ©rge did €. 10 Bge did
& fobg Uwll 181 didl | 9 Bige 3R Ust g UiH ardd faendigl 31 d=r 15 8 |
PRUIR : (B! &l IRAT =4l 4 SIRB P [T n (4)=n(4-B) +n(4NB)
SWRIF DY & el T, i fEU T fdwpedi ¥ ¥ 9a Iuged 3R &l 994
(1) A SRR G HEl§ SRR, A DI U A 8

(2) A SRR G Tl 5. bR, A DI Hel ARA ol §

(3) A¥glgAfPIR TGI8

(4) ATgITeigo af- TR T5l ©

1[Option ID=9145]
2[Option ID=9146]
3[Option ID=9147]
4[Option ID=9148]

Sl. No.68
QBID:12455043




Universities 1 India are preferring traditional attire during convocations.

A. Indian Universities are against western dresses.

B. Indian universities wants to promote traditional dresses.
C. Indians love to celebrate occasions traditionally:.

D. Indian traditional dresses are better than western wear.
E. Western wear 1s banned by government

Choose the correct answer from the options given below:
(1) Band C only

(2) A.B and C only

(3) A.B and D only

(4) Dand E only

W?ﬁ%ﬁﬂﬁﬁ%ﬁﬁﬂﬁ@ﬁ&?%uﬁnﬁmamwﬁmaﬁ
SIdl g |

A. YR fayfaemey g axmy o a1 g |

B. YR fayfdeay URUR® dIyST &l WieTs oAl 918d & |
C. U TN G| &1 IRANG &0 4 A1 98d © |

D. YR URARS dHNT 9141 Ug1d J 98aR © |

E. OTYTd U1l TRBHR gRT Afaafid § |

i< feu v fa el O 9 9a8 Iugead STk &1 99 BifoL :
(1) HFAB AR C
(2) FHIAA, B ARC

(3) HITA. B3R D
(4) HaaD ARE

1[Option ID=9149]
2[Option ID=9150]
3[Option ID=9151]
4[Option ID=9152]

Sl. No.69
QBID:12455044




Match List I with List IT :

LISTI LISTII

If 48 term of a G.P. is

square of its second term,
A and 1ts first term 1 3, then L
common ratio 1s

LA

The first term of an AP 1s 5,
the last term 15 45 and the 5
BE. sum of the terms 15 400, IL. ——
The number of terms 15

The sum of three numbers
which are in AP 15 27 and
C. sum of their squares 15 293, . |16
Then the common
difference 15

The fourth and 54 terms
D of an AP are, respectively, v |3
64 and —61. The common

difference 1

Choose the correct answer from the options given below :
(1) A-IV. B-III, C-I, DI
(2) A-III, B-II, C-1. DIV
(3) A-II B-III. C-1. D-IV
(4) A-IL B-I C-III. D-IV




Il 1 S H1Y Gl 11 DT e Sifor -

A I T
3¢ U G.P. & 9q4 UG qd
e U BT &, SR TP | |
mrﬁru‘c'a%%a“rwaqcm '

|
AP DIUYHUG 5 3, difaH ug
p 45T REHIURI®IaRT400 [ o | 5
|8 ot et @t gEm el | 2
|

LA

g d gEnsi s amap o
27 8 3R I vl @l TR 295
HGEEREIRIG]

HRE |

foodt A p &1 9qd U4 5491 Ug
D. [H: 64 Td —61 3 | A SH®1| IV, [3
g ARE |

i fGu 71U fasedl | ¥ 9gl 3R &1 944 $ifolu -
(1) A-IV, B-III, C-I, D-II
(2) A-IIL B-II. C-1. D-IV
(3) A-II B-IIL C-1. D-TIV
(4) A-II, B-I. C-III, D-IV

III. |16

1[Option ID=9153]
2[Option ID=9154]
3[Option ID=9155]
4[Option ID=9156]

Sl. No.70
QBID:12455045

Given below are two statements: one 1s labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : The system of equations x +y+z=4, 2x—y+2z=5.x—-2y—z=—
3 has unique solution.

Reason R : If 4 15 3 x 3 matrix and B 1s a 3 x 1 non-zero column matrix, then the

equation 4X = B has unique solution if A is non-singular.
In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.




19 S1 YA [SU U § : U DY (Assertion A) P =9 H [AIREd g al g&=1
WW{R&.&SDH R)BEUH :

I U@ faRIy ga & | ﬁ

BRUTR : SR 4 TS 33 HICH SR B UP 3«1 [ Dl HIcaH 5 al 4x =
B FHIHRUI & UM U [Af¥IP §9 . SR 4 TH-ER © |

SWRIGd DY & Heie U, #id fSU T fdeedl ¥ 9 Had Iugad 9ok &l 9g-

W:

(1) A SRREH Tl 8 IR R. AP ol R &

(2) A JRR I TSI E, AP R, A BT IS orem T R
(3) AFE S Al R WG 76l ©

4) AGSTEIE AfPIR WE R

1[Option ID=9157]
2[Option ID=9158]
3[Option ID=9159]
4[Option ID=9160]

Sl. No.71
QBID:12455046

Given below are two statements:
Statement I : 011010 is 2’s complement representation of —37.
Statement IT : 111 ¢, 15 octal representation of 73.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II 1s false.
(4) Statement I 1s false but Statement II 1s true.

SEEAGITAC g o
Y1 : 37 DI 2's R U0 011010 T |
Y I : 73 BT ATTHRT (3Maed) =T 1115, © |

JWRIdd BY & 3HTdlD |, Aid (G0 0 fdbedl § T ggl 3 &1 9g- Hifolu
(1) FYFI AR IS T §

(2) HYAI AR I G T B

(3) HYT I TA S, Al HUT I T ©

(4) FUFI T . AP pUT 19

1[Option ID=9161]
2[Option ID=9162]
3[Option ID=9163]
4[Option ID=9164]




Sl. No.72
QBID:12455047

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Binary information is represented in digital in terms of “zeros’ and
‘ones’.

Reason R : Digital computers are electronic devices, which operate using
electrical voltages.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.

- 31 Py AU U § : U SIUBYT (Assertion A) P =9 H ARG 8 ol G211

WW{Rﬁasﬂn R)PEUH

aa{%ﬁ%ﬁqu: - SMYRY (@< Y1 SIRN TUT TH' & 3@ & =0 § a¥iis
!

PRUIR : [STed HHER SAF 1D IYD 6. il dg9d dieed (voltage) &

YN gRI IR §Id & |

SWRIF DY & el T, i fSU T fdpedi § ¥ 9a9 Iuged 3o &l 994

(1) A SRR GEH T8l 8 IR R. AP ol AR §

(2) A 3R R &I Fol 5. dfch- R. A DI el oURAT 5l ©

(3) AT ABIR TG 7ol o

(4) ATSITeig AfbT R TE ©

1[Option ID=9165]
2[Option ID=9166]
3[Option ID=9167]
4[Option ID=9168]

Sl. No.73
QBID:12455048




Consider the diagram given below and the following two statements:

Statement I : Regions X, ¥V and Z can be expressed as 45 4~ B and T~ B
respectively

Statement II: P(Y)=P(4)-P(X)=P(B)-P (2

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement [ and Statement II are true.

(2) Both Statement I and Statement II are false.

(3) Statement I 1s true but Statement II 1s false.

(4) Statement I 1s false but Statement II 1s true,

fau TTe o iR AT WR faaR Bifery -

e Q o
L,

DY : X, ¥ IR Z 87 D Ha: U d ST UPR IR APAC - 4~ 5. 4~ B R
A~ B

HUTI: P(Y)=P(4)-P(X)=P(B)-P(2)

IWRIad BYF & TalD 1. 4 (U 70 [awed T U el 30 &1 99— Hiferu

(1) HYFI AR SH TI &

(2) HYTI IR 1A AT S

(3) HYT1TA ¢. Afh- PUT I 3T B
(4) FUF ITIE. AfpT YT 19

1[Option ID=9169]
2[Option ID=9170]
3[Option ID=9171]
4[Option ID=9172]

Sl. No.74
QBID:12455049




Given below are two statements: one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A : Goitre 1s a commeon disease i mountainous regions.

Reason R : The diet of the people in mountains lacks Iodine content.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are true and R 1s the correct explanation of A.
(2) Both A and R are true but R is not the correct explanation of A.

(3) A istrue but R 1s false.
(4) A is false but R 1s true.

- 1 Py AT U § : U DY (Assertion A) P =9 H fARad 8 Al g&R1
WW(R&%DH R)BEUH

TUPYT A : T4d1T &1 H TS (Goiter). TH MHF =9 9 U5 &1 arel
dARIE |

PRUTR : Tod ™ ATl & AER H IS dd &1 HHI a7 ol 6 |
IRIdd YA & ATaid H, i e MU [dhedi § T gl TR &1 999 Hifold :

(1) A 3RRSH G E AR R, AP Gl IS §

(2) A 3RREF A 8. AfchT R, A B Gl e Te1 8
(3) ATIE. AP R IFT S

(4) A3TTE. AFPTR IR

1[Option ID=9173]
2[Option ID=9174]
3[Option ID=9175]
4[Option ID=9176]

Sl. No.75
QBID:12455050

Which of the following storage hardwares can be used as a back-up device?

A . HDD

B. ROM
C.RAM

D. Cache

E. Magnetic Tape

Choose the correct answer from the options given below:
(1) Only A, B and C

(2) OnlyB.CandD

(3) Only Aand E

(4) OnlyA.CandE




§%-30 Iuavl & ¥4 & Fgferfad ¥ § oHY Wiy s (@afed
FYDHRT) T TANT a1 ofl Gadi § 2

A.HDD (Td.31.31)
B. ROM (X1H)

C.RAM (3¥)
D.Cache(aﬁn
E. Magnetic Tape (ﬁaﬁfﬁ E—ED
i feu U fasedl & 9 9l 3R &1 994 $ifelu :
(1) HFAA. B IARC
(2) PIAB. C AR D
(3) PHad A ARE
(4) HAAA. C ARE

1[Option ID=9181]
2[Option ID=9182]
3[Option ID=9183]
4[Option ID=9184]

Sl. No.76
QBID:12455051

In a class there are 400 students. the following table shows the number of students
studying one or more of the subjects:

Subject Number of Students
Mathematics 250
Physics 150
Chemistry 100
Mathematics and Physics 100
Mathematics and Chemistry 60
Phvsics and Chemistry 40
Mathematics, Physics and Chemistry 30

A. The number of students who study only Mathematics 1s 100.

B. The number of students who study only Physics 15 40.

C. The number of students who study only Chemistry 1s 40.

D. The number of students who do not study Mathematics. Physics and
Chemustry is 70.

Choose the correct answer from the options given below:
(1) B andD only
(2) AandB only




(3) Aonly
(4) Conly

Us HT H 400 faemdf € | == 1 8 ool e o1 e © sifes oy ugH ad
B B gl @ |

Tug BEI B HE&TT
UG 250
Hifdat 150
T 9*d 100
TIfoTd Ut Hifde! 100
IO YT T9EH T 60
Wi auT T A 40
TIord. Hifda! a1 I/ ARG 30

A. Had 0T Ug+ a1 S & T 100§ |

B. g Hifdd! Ug- a1d SE & T=I140 § |

C. $Had TG IR U ald S & T@m40 |

D. TfUrd. Hifdet g 3910 e 9 UgH 9T SE Bl S| 70 © |

A= feu e faw el ¥ 9 9ad Sugad STk &1 99 BIfoL -

(1) HgdB IRD
(2) HaadA3fRB
(3) P A
(4) HadcC

1[Option ID=9185]
2[Option ID=9186]
3[Option ID=9187]
4[Option ID=9188]

Sl. No.77
QBID:12455052

The arithmetic means of two observations is 125 and their geometric mean 1s 60.
Find the harmonic mean of the two observations.

(1) 4.17
(2) 8.34
(3) 28.8
4) 57.6

&l AP (SHTTOIAL) T SAHIOICT AT 125 § 3R 3P OIRR HIH 60 §
| &1 Sadld-| B eNHP J18 J1d Do |

(1) 4.17

(2) 8.34

(3) 28.8




(4) 57.6

1[Option ID=9189]
2[Option ID=9190]
3[Option ID=9191]
4[Option ID=9192]

Sl. No.78
QBID:12455053

The arithmetic mean and standard deviation of series of 20 items were calculated
by a student as 20 ecm and 5 cm respectively. But while calculating them an item
15 was musread as 30. Find the correct standard deviation.

(1) 4.10
(2) 4.40
(3) 4.54
(4) 4.66

U BT §RI B 717 3R AFS [9g9a- Ud 20 Tl & SUT & 0T B
TS Ol {5 AR 20 T 3R 5 THt § | A 37951 M1 & SR dcd 15 DI
et U 30 U foran a1 | gl A faad &1 J1d Hiferd -

(1) 4.10

(2) 4.40

(3) 4.54

(4) 4.66

1[Option ID=9193]
2[Option ID=9194]
3[Option ID=9195]
4[Option ID=9196]

Sl. No.79
QBID:12455054

In a processor, while executing an instruction

A. Programme Counter is used to hold the address of next mstruction.
B. Instruction register holds the mstruction for execution.

C. Memory Address Register 1s used to perform address translation.
D. Memory Data Register 1s used to perform data operation

E. Clock generates control signals.

Choose the correct answer from the options given below:
(1) Only A and B are true

(2) Ounly C and D are true

(3) Ounly A, B and E are true

(4) Ounly B. C. and D are true




fep il 3SR BT (eaIg Bd 0y, U UIEER H -

Al ﬂ@%@ﬂﬂﬁjﬁ@ﬁ% feTT WiUTH B3R &1 Iugr fohar
olldl g |

B. 3R forex wiied #e & Ay SFex &I 3Edi & |

C.gd Q@F P EUIRU & A @:ﬂ%f ERIEIEER (Memory Address Register)
&1 IUGI fbg ST § |

D. mqﬁ?ﬂﬂq$%ﬁ@€ﬁmﬁw&{emm}f Data Register]aﬂmﬂ
fpar oTaT g |

E. U8 (Clock) §R1 [HTa0 Yaodd| &1 307 [GaT Iam @ |

i fau U g el & 9§ TEl 3Tk &1 98 Bifoid -
(1) Fad A ARB

(2) $gAC ARD

(3) PAT A, B HRE

(4) PHAAB, C AR D

1[Option ID=9197]
2[Option ID=9198]
3[Option ID=9199]
4[Option ID=9200]

Sl. No.80
QBID:12455055

Given the marks of 25 students in the class as {my. m,. ..... my5}. Marks lie in the

range of [1-100] and /m 1s the mean. Which of the following quantity has the value
zero?

25
(1) Z ‘H?{- —IT?‘
=1

25
(2) Z (m,- — i)
- :
(3) Z (m; —m)
i=1
25 m,
(4) —
= W

TP P& 1 25 BHI & 3P THUBR {my. my. ..... mys HAUTL T | 30 [1 - 100]
& R/ A\ 31d § SR & He § | Fefaied aEr g feee aF j© 2

(1)




25
@ » " (m;—imn)
o y
@ Y (m; —m)
i=1
=3
(4) ; —

1[Option ID=9201]
2[Option ID=9202]
3[Option ID=9203]
4[Option ID=9204]

Sl. No.81
QBID:12455056

India has been continuously experiencing military threats from its neighbouring
countries.

Statement I : India should engage into an all out war to stop the nagging threats.
Statement II : India should get the neighbours into a serious dialogue to reduce
the tension at its border.

In the light of the above statements, choose the correct answer from the options
given below:

(1) Both Statement I and Statement I are correct.

(2) Both Statement I and Statement II are incorrect.

(3) Statement [ 1s correct but Statement II is incorrect.

(4) Statement [ 1s incorrect but Statement II is correct.

YRd Ao TSR ST ¥ TR S AR BT HT PR IET S |
FYF 1 : YRd B 7 HI 91 Wa I Ad & (07U AHR-IR B d38T5 dasH!

918y |

SYA 11 : AT HH13 D d-1d DI HH B o [0l HRd DI 39 gaiiyal 9
TR gradia St =gy |

SWRIGd DY & 3Heiss T, 19 f3U T fdeedl § 9 Had Iuged 3R &1 9g-1
BT -

(1) YT AR I SH Tel &

(2) HYF1 AR 11 gHI Tad &

(3) HYTITBIE. AP HYT I T &

(4)




HY- 1 9el 8. Afthd HU 11 7ad &

1[Option ID=9205]
2[Option ID=9206]
3[Option ID=9207]
4[Option ID=9208]

SI. No.82
QBID:12455057

A + B means A is daughter of B

A » B means A 1s son of B

A — B means A 1s the wife of B

P x Q — 5 means

Statement I: S 1s father of P

Statement II: P is daughter of Q

In the light of the above statements. choose the correct answer from the options
given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I 1s true but Statement II is false.
(4) Statement I 1s false but Statement II 1s true.

SIECICRICI A (O
A+BPIUANI A BBIECIT |
AxBHIATAG A, BHTICTE |
A-BPHITACG A. BDI U © |
P x Q- S &I HdUd -

PYTI1:S.PHIUAR |
PYTI:P. QDI T |
IRIFd HYA & TP |, 514 83U 70 fawedi 4 I 9g1 IOk &1 94 il

(1) FYFIAR I SH TT B

(2) HYFI AR IS SRTT B

(3) PYF 1 IA B, Afh- PYUT 1 3T 8
(4) DU ITT e, AP PUT I T8

1[Option ID=9209]
2[Option ID=9210]
3[Option ID=9211]
4[Option ID=9212]

Sl. No.83
QBID:12455058




The terms 1. log, (x) log, (y) and -15 log, (2) are in AP. Based on this information.

answer the followi ing questions.

log, (x). log, () 3R —15 log, (-) PH AP H & | 3H G F YR R AU TY
ﬁyﬁl@ﬂwwaﬂ?ﬁ?ﬂﬂ|

The Common difference of the AP 1s:
1) 2

(2) -2

(3) 12

(4) -1/2

AP BT I IR T -
(1) 2

(2) -2

(3) 1.2

(4) -1/2

1[Option ID=9213]
2[Option ID=9214]

3[Option ID=9215]
4[Option ID=9216]

Sl. No.84
QBID:12455059
The terms 1. log, (x) log, (y) and -15 log, (2) are in AP. Based on this information.

answer the following questions.

1. log, (x). log, () AR 15 log, () PAAPH T | 39 I & HMUR R UM
Frafafad vy &1 W < |

The value of xy 1s:

1) 1

(2) -1

(3) z°

(4)

W BTHAAS -
(1) 1
(2 -1

(3) 2

(4) 7

1[Option ID=9217]
2[Option ID=9218]
3[Option ID=9219]
4[Option ID=9220]

Sl. No.85
QBID:12455060




The terms 1. log, (x) log, (y) and -15 log, (z) are in AP. Based on this information,

answer the following questions.
1. log, (x). log, () #R - 15 log, () PHAPHE | 3H YT & AUR R fJY MY
AGRgd U 1 FTR glfuld |

¥z 18 equal to:

(1) x

(2) 2

(3) 2

4)

yz Fafafea o fogs s g 2
(1) x

(2) 2

(3) 72

(4)

1[Option ID=9225]
2[Option ID=9226]
3[Option ID=9227]
4[Option ID=9228]

Sl. No.86
QBID:12455061

Consider n events E;. E,.....E,. with respective probabilities py. py....p,. If
P(E,, Ey..n E,) =[] p, then
i=]
(1) The events are mutually exclusive
(2) The events are independent

(3) The events are dependent

(4) The events are mutually exclusive and independent

fdeR DT n U3 E,. E». .... E,. TR 51T WIS T (Probability) ShHTT: p,.

Py...pa 8 | 3R P(E,E,,....E,)=[] p,. ¥
i=1

(1) g IR 9ol § |

(2) geA Waa g |

(3) g R g |

(4) FeATE TRER 3aulf 3R Wad & |
1[Option ID=9229]

2[Option ID=9230]

3[Option ID=9231]
4[Option ID=9232]




Sl. No.87
QBID:12455062

Given a set of events E;...E,. defined on the sample space S such that:

(1) -T-_"f' and j, i=j, E N E,=¢
(i) .L_J]t‘.. =5
(i) P{E]>0.¥i=1Ln

Then the events are:
(1) Pairwise disjoint and exhaustive

(2) Pairwise disjoint and independent
(3) Dependent and mutually exclusive

(4) Independent and mutually exclusive

[T T ge13] #1392 E,. ... E, U Uaas 991 (Hud € s T 59 YR
gRyTYa 3 i

1. Yiandj, i#j,EnE_=¢
. [ o

i UE =5
i=1

iii. P(E,)>0,7i=1n

ol geATy g |

(1) GO 3EYEH 3R Ry
(2) g g 3R Wad
3 R SR IRER sgasi
(4) WA R IRER 39Sl
1[Option ID=9233]

2[Option ID=9234]

3[Option ID=9235]
4[Option ID=9236]

Sl. No.88
QBID:12455063




Given the following statement and five possible conclusions.
All scientists working in America are talented. Some Indian scientists are working
in America.

A. None of Indian scientists are talented.

B. Some talented Indian scientists have migrated to America.
C. All talented scientists are Indians.

D. Some Indian scientists are talented.

E. Scientist working in India are not talented.

Choose the correct answer from the options given below:
(1) Conclusions A and D only are correct
(2) Conclusions B and D only are correct
(3) Conclusions A and E only are correct

(4) Conclusions B and E only are correct

=i ufg Yuifad SR quT HU= AT L &

e 1 s oA ard 3t aenfe wfavmeed € | ou yRdla aTe
ST H BRRA T |

A. P13 ot yRdg Iefae afaurmel T8 8 |

B. T© UAUTRITE YR aq1Hd SR T $ T |
. gt wiaHTITel a-e URAE g |

D. $& YR a1 UiAHTRIEH 3 |

E. HRd H ST aqili=d UaH=el el © |

=d feu U fap el § T el 3 &l 90+ Biflu ;
(1) Had THY ATUID TEI© |
(2) Had THFYBIUD TEI © |
(3) Had Y ATUTE TBI & |
(4) Had 5HY B AUTE T&I & |

1[Option ID=9237]
2[Option ID=9238]
3[Option ID=9239]
4[Option ID=9240]

Sl. No.89
QBID:12455064




Ministers arrived at the public function in their cars. Consider the following
statements.

A. All Ministers are rich.
B. Minister have official cars in general.
C. Minister usually participate in public functions.
D. Only rich Ministers arrive in cars.
E. Person with cars can only be a Minister.
Choose the correct answer from the options given below:
(1) AandB only
(2) B and D only
(3) BandC only

(4) CandE only

frafaRad sy=i R M € | T grav—e GaRIE § 13l 3=t SRIE 31T |

A g EH iR E |
B. I B0 & U TRHRI PR Bl © |
C. TR 8l 7t grduii-e GARE H HIT dd & |
D. Faa R TN S BRI H 31§ |
E. S afdd $ U9 R 8. dd dol 9al 7 &l g |
+d feu U fapedl § T el 3 &l 90+ Diforu
(1) Had A AR B
(2) HadB IR D
(3) HadB AR C
(4) HBaaC ARE

1[Option ID=9241]
2[Option ID=9242]
3[Option ID=9243]
4[Option ID=9244]

Sl. No.90
QBID:12455065

The simplified form of Boolean expression:
ABC+ ABC 18

(1) AC

(2) 4B

(3) BC

(4) 0

AU D " qpc 4 apc" PIRATA B
(1) AC




(2) AB

(3) BC

4) 0

1[Option ID=9245]
2[Option ID=9246]

3[Option ID=9247]
4[Option ID=9248]

Sl. No.91
QBID:12455066
4 Indians, 3 Americans and 2 Britishers are to be arranged around a round table.

Answer the following questions.

4 YR, 3 3ER®! 3R 2 9 T I35 ¢80 & 9RI SR AT B (83 8)
|

feu My Fafafed vy &1 swR T -

The number of ways of arranging them is:
(1) 9!

(2) 9!/

(3) 8!

(4) 8!/

31| AT 3 b [olU aiicp| o Twa] -

(1) 9!
(2) 915
(3) &!
(4) 8l/5

1[Option ID=9249]
2[Option ID=9250]
3[Option ID=9251]
4[Option ID=9252]

Sl. No.92
QBID:12455067
4 Indians, 3 Americans and 2 Britishers are to be arranged around a round table.

Answer the following questions.

4 URAY, 3 SERST 3R 2 1% U A30S Cad & 9RI IR FARYd § (€6 ©)
|

fau e Fraferfad vy o1 SR i -

The number of ways arranging them so that the two Britishers should never come
together 1s:

(1) 7! = 21

(2) 6! = 2!

3) 7!

(4) ¢! 6p,




ID! AT T & o7 Rid! &I T=11 od (aifd) i fodi=r v a1y ot
TR 3T =1 -

(1) 7! = 2!

(2) 6! = 2!

3) 7!

(4) 6! °P,

1[Option ID=9253]
2[Option ID=9254]
3[Option ID=9255]
4[Option ID=9256]

Sl. No.93
QBID:12455068
4 Indians, 3 Americans and 2 Britishers are to be arranged around a round table.

Answer the following questions.

4 YRGH, 3 3MRD! 3R 2 6T U I3US ¢ae & IRl SR AT T (46 ©)
|

feu My Hefaiad uy &1 3R difvie -

The number of ways of arranging them so that the three Americans should sit
together 1s:

(1) 7! x 3!
(2) 6! = 3!
(3) 6! °P;
(4) 6! P,

31| AR B b (U ailp] | U] oI (dlidh) diF HR$] T 91y
CREIEIE
(1) 7! 3!
(2) 6! = 3!
(3) 6! °P;

(4) 6! P,

1[Option ID=9257]
2[Option ID=9258]
3[Option ID=9259]
4[Option ID=9260]

Sl. No.94
QBID:12455069




Match List I with List IT

LISTI LISTII
(Books) (Authors)
A The story of my I Maulana Abul Kalam
" |Expeniments with Truth ’ Azad
B. |Glimpses of World History II. [|Narendra Modi
C. |India Wins Freedom III. |Pandit Jawaharlal Nehru
D. |Exam Warriors IV. |MK. Gandhi

Choose the correct answer from the options given below:
(1) A-IV,B-III, C-I. D-II
(2) A-IIL B-IV, C-II. D-1
(3) A-IV. B-II. C-III. D-1I
(4) A-IV. B-III. C-II. D-I

Il 1 S H1Y Gl 11 DT e Sifor -
I I
@ﬂ@ﬁﬁ %
A E';ngfgﬂ L |HIH e Sa 3eg
B |MuaiBae el | I [Ae=HG
c. |sUsmfegwisn L |gfisd JaEand Hg®
D. (oo ooy IV. [|oH & i
1= 4 ¢ fdeedl § 9 9ol SR &1 98- Sifeu -

(1) A-IV. B-II, C-1. DI
(2) A-IIIL B-IV, C-II. D-I
(3) A-IV, B-II. CIII. DI
(4) A-IV. B-III, C-II. D-1
1[Option ID=9261]
2[Option ID=9262]

3[Option ID=9263]
4[Option ID=9264]

Sl. No.95
QBID:12455070




Match List I with List IT

LISTI LISTII
A |Austria I Oslo
BE. Iran II. Stockholm
C. |Norway III.  |Vienna
D. Sweden IV. |Tehran

Choose the correct answer from the options given below:
(1) A-IIL B-1. C-IV., DI
(2) A-III, B-IV, C-II. D-1I
(3) A-IIL, B-IV, C-1. D-II
(4) A-1, B-II, C-III. D-1IV

T 1 S 1Y Yl 11 T e Sifo -

il w1 11
A |effEEEr L |3
B. &M N Rl T
c. (A4 nL  |f@gmn
D. [d@Eq V. |dgeE

- f4u 7Y faedl | T el STR &1 994 Sl .
(1) A-IIIL B-1. C-IV. D-II

(2) A-IIIL B-IV., CII. DI

(3) A-IIL B-1V, C-I, DI

(4) A-I B-IL. C-III. D-IV

1[Option ID=9269]

2[Option ID=9270]

3[Option ID=9271]
4[Option ID=9272]

Sl. No.96
QBID:12455071

Given three 1dentical boxes By, B, and B; each containing two balls. B, contains
two golden balls, B, contains two silver balls and B, contains one silver and one
golden ball. Conditional probabilities that the golden ball 1s drawn from B;. B,. B

are respectively
(1) 0.1.1/2
(2) 1)2.0.1
(3) 1.0, 1/2
(4) 1.1/2.0




[T 7Y 3 §9 S194] B,. B, SR B; U@ &l §1d (ball) BI 3@ § | B, &l 8¢
1. B, &l 9ig] dd 3R B; U ek 3R U GAgl aid 39l ¢ | Iwfday
I dl (PoiR-a. disicd!) e did &l Hdia- ©f HHE: B,. B,. By
ST

(1) 0.1.12

(2) 1/2.0.1

(3) 1.0.1/2

(4) 1.1/2. 0

1[Option ID=9273]
2[Option ID=9274]
3[Option ID=9275]
4[Option ID=9276]

Sl. No.97
QBID:12455072

Match List I with List IT :

LISTI LIST II

In a GP. the third term 1s 24
A and 6th term 15 192, The I 78
COMUMOoN ratio 18

Let S, denote the sum of

the first » terms of an AP If
S5, = 35n, then S5./Sn

equals to

The sum of the first 3 terms
C ofa GP 1z 13/12 and their I _1
’ product 15 —1. The first term '

15

The least value of 2 for
whichthe sum 3 -6+ 9
+..... T nis greater than

1000 1s

Choose the correct answer from the options given below:
(1) A-II, B-I, C-II. D-IV
(2) A-II. B-IV, C-1. D-II
(3) A-IV. B-II. C-IIL. D-1I
(4) A-IV. B-III, C-II. D-1




Il 1 S H1Y Gl 11 DT e Sifor -

I
THGPHJITUG 248
A [dRBBUG1028dl L |78
A {Ud 4
OH of [l AP T UYH »
Ual & G &l 5, R
B. |[c¥faiena@igiais,,= | m |s
35, dl S5,/ S, SRISR BRI
|

Pt G P & UYH 3 Ual &l
TRT 13/12 8 3R 3T

UHGA-138 | dl GP &I
Ugal UG Hull

nfoap faus«6+9+
O + nBIAAT 1000
O F18rT

=d feu U famedl § T el 3R &l 90+ Difulu
(1) A-IIL B-1, C-II. D-IV
(2) A-IIL B-IV, C-I, D-II
(3) A-IV, B-IIL, C-III, D-I
(4) A-IV, B-III, C-II. D-I

o |1

V.

[

1[Option ID=9277]
2[Option ID=9278]
3[Option ID=9279]
4[Option ID=9280]

Sl. No.98
QBID:12455073

Given below are two statements: one 1s labelled as Assertion A and the other 1

labelled as Reason R.

Assertion A : Military service should be made compulsory in our country.
Reason R : Every citizen should protect his country.

In the light of the above statements. choose the most appropriate answer from the
options given below:

(1) Both A and R are correct and R 1s the correct explanation of A.
(2) Both A and R are correct but R is not the correct explanation of A.

(3) A is correct but R 1s not correct.
(4) A is not correct but R 1s correct.




19 S1 YA [SU U § : U DY (Assertion A) P =9 H [AIREd g al g&=1
WW(R&.&SQH R)BEUH

fUSYT A : BAR S & I41 & A3 Fea1 sifard g1 =g |

PRUIR : YD AFIRSD DI AU G2 D & F1 diigy |

SWRIGd DY & 3Heie U, 1 fSU T fdeedl ¥ 9 9 Iuged 3k &l 9g-1
PIfoTT -

(1) A SRR S Tel ¢ SRR AT Ul ARS §

(2) A3RRIHA TEle. AfBTR. AT Tl AT el &

(3) AGsig AT R TSI 6l ©

(4) AGEI el g AT R T ©

1[Option ID=9281]
2[Option ID=9282]
3[Option ID=9283]
4[Option ID=9284]

Sl. No.99
QBID:12455074

Match List I with List IT :
w = 1 18 a cube root of unity.

LISTI LISTII
The value of 1/9 (1 -
A Wad-whHia-wh - I |0
wh) is
wi{l+w-— u'zj? is
equal to

II. 1

The least positive integer i
C. [suchthat(l+wH)?=(1+ o |-128

Wy is

Lid

D. |(1+w+w)isequal to IV.

Choose the correct answer from the options given below:
(1) A-IL B-III, C-1. DIV
(2) A-IIL B-III. C-IV, D-1
(3) A-III, B-II. C-IV, D-1I
(4) A-III B-II. C-I. D-IV




G;ﬁ[%ﬂgguﬂnaﬂﬁaﬁﬁm:

w178 DIUTHAG |
T e I
A [1PA-wa- wi) (1 - i o
wh (1-wS) BT |
B wi(l+w-— u:]? % I 1
TSR E '
FgaH 4_THS qulie 98
C. [Ea+wHyi=1+wh” L |-128
R
D |l+w+w)) PG | v. |3
i feu U fawedl § ¥ Ul 3R &1 904 Bl ;
(1) A-IL B-I1I, C-1, D-IV
(2) A-IL B-III, C-IV, D-I
(3) A-III, B-II, C-IV, D-I
(4) A-III, B-11, C-1. D-IV
1[Option ID=9285]
2[Option ID=9286]
3[Option ID=9287]
4[Option ID=9288]
Sl. No.100
QBID:12455075
Match List I with List IT :
LISTI LIST II
A. |logy (logs 81) = L 0
g |38 =T tenk | .
e [alee > slop 2 I 1
D. [log; [log; (236)] = IV. 2

Choose the correct answer from the options given below:
(1) A-L B-III, C-II, DIV
(2) A-I B-III, C-IV,. D-II
(3) A-IIL B-IV, C-II. D-1
(4) A-IIL B-IV, C-I. DI




Il 1 S H1Y Gl 11 DT e Sifor -

il ULt
A |logy (log; 81) = L 0
B. |3*%8,7 =7 then k= I |3
g, |gheogfende . |1
D. log, [log; (256)] = V. |2

i fGu 7T fasedl & ¥ 981 3R &1 944 Sifoll .
(1) A-I B-IIL C-II. D-IV

(2) A-I B-III, C-IV. D-II

(3) A-IIIL B-IV, C-II, D-I

(4) A-III, B-IV, C-1. D-II

1[Option ID=9289]

2[Option ID=9290]

3[Option ID=9291]
4[Option ID=9292]




